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QUESTION 1

Which of the following statements is true? Select the correct answer.

A. Service compositions can challenge the traditional notion of interoperability because they rely heavily
on integration and therefore make integration an intrinsic process of service delivery.

B. Service compositions can challenge the traditional notion of integration because services are ideally designed to be
intrinsically interoperable and therefore require less integration effort when assembled into service compositions.

C. Service compositions can challenge the traditional notion of interoperability because they consist of distributed
programs (services) and integration is rarely carried out across applications that are remotely distributed.

D. None of the above statements are true.

Correct Answer: B

QUESTION 2

| was discussing my new service with a client who told me that my technical service contract revealed too much
information about the underlying service design. For example, based only on the names of my service capabilities, my
client could determine that the service was using an Oracle database. What service-orientation principle should I apply
to address this problem? Select the correct answer.

A. Service Reusability

B. Service Discoverability

C. Service Autonomy

D. Service Abstraction

Correct Answer: D

QUESTION 3
Which of the following is not a benefit associated with silo-based application design? Select the correct answer.

A. The emphasis on fulfilling tactical (short-term) business requirements allows for a more predictable application
delivery lifecycle.

B. The analysis and design of applications are easier because strategic (long-term) business requirements don\\'t
usually need to be taken into account.

C. The latest technology advancements can be leveraged by repeatedly building new applications from the ground up.
D. Applications are always inherently built for repeated reuse across silos.

Correct Answer: D
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QUESTION 4

When applying the Service Autonomy principle, runtime autonomy and design-time autonomy are related through the
following rule of thumb: "The the amount of design-time autonomy, the
the amount of attainable runtime autonomy." Select the correct answer.

A. lesser, lesser
B. greater, lesser
C. greater, greater
D. lesser, greater

Correct Answer: C

QUESTION 5

Service compositions can only be assembled from services that belong to the same service inventory. Select the correct
answer.

A. True
B. False

Correct Answer: B
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